H O

=0 o
202445 =0llat LRI MSXE
SN HSNSD
M MselZet IE(2A2Z/HF)
el HSAE &S (Crel: &)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
H=dEn 17,509,589 28,552,311 A11,042,722
= 101,411
= 3,712,000
Jl 1,076,001
& 243,386
Al 12,041,031
= 335,760
HFoldet A=(2otH22/H=) 15,476,295 27,321,120 A11,844,825
= 101,411
= 3,712,000
Jl 1,076,001
= 243,386
Al 10,007,737
= 335,760
HEAE &S 8,544,086 21,430,799 12,886,713
= 101,411
= 3,712,000
Jl 360,000
Al 4,322,121
= 48,554
SSHEAE 2 970,000 294,000 676,000
401 AIZHIZ 20| 970,000 294,000 676,000
01 Al&H] 966,040 292,380 673,660
O=SSHEANE R+
4,000,000 *2504 2 100,000
OHOIEEH RAE=
3,000,000 *207H 2 60,000
O&E23 HOIESE HHISAt
400,000,000 *141x99.28/100 397,120
OBt & MSAIE ZYZ EXISA
150,000, 00021+ 141%99.28/100 148,920
O=:RE =Y cI22e3A
200,000,000 14! 200,000
OQlelZIIE F&S WHSAH
60,000,000 * 14 60,000
03 AIE S0 3,960 1,620 2,340
OE29 HOIEESH HEISA
400,000,000& *141%0.72/100 2,880
OZB2xt & MSAE U2 EXISA
150,000,000 *141%0.72/100 1,080
SUMSAE 2¢ 178,800 160,200 18,600
201 Let23| 13,800 10,200 3,600
02 S32gH| 13,800 10,200 3,600
Os2F MIIe3 350,000 % 12 4,200




2A:

SRR HIq&EE} IE(2AL2Z/HS)
SR MSAE 2= (Crel: & 2l)
SH - EHH . O(3) - NRAIY - B Ofl st e RS2
ONFEEX HMSAE &I
800,000 122 9,600
401 AlEHI 22 0HH 165,000 150,000 15,000
01 Al&H] 165,000 150,000 15,000
OSUIHSAIE 25717 &X
4,000,0002%207H A 80,000
OSUMSAIE =5 2=J|7 uH
4,000,0002% 1074 A 40,000
OSURISAIE 25017 24
200,00024* 150 30,000
OO0l 8= Xt 2C2 OlI2S)|7 AR
(ZFLEO 04 5,000,000 *30H 15,000
AFAl AUSHE 2 2,060,027 1,701,804 358,223
101 Q124H| 879,643 769,294 110,349
04 JIZHHI22ISE % 879,643 769,294 110,349
O+ Hagl o9 72,118
—Jlz2 78,8802 x22%260 41,018
—F5rd 78,8802 %22 x522! 8,204
—go4g
78,8802 % 1. 5HHx2Z*622%0. 875 12,838
—A2H22ReE
,8602 % 1. 5H*1 Al 2Hx2 2 x260 2 7,691
—ARRSEIILY
78,8802 %22 152! 2,367
OPHLLE ol 102,409
=Jl=2=2 78,880 x32 %260 ! 61,527
—=54 78,880 x3H x52! 12,306
=
78,8802%1. 5H{*32*622!%0 . 875 19,257
—A2H22ReE
9,860 %1.5HH*0.5A1 2H+32 2602 5,769
—RSEIISY
78,8802 %32 152! 3,550
Otd e o1 221,848
=2 85, 4402 *62x2602 133,287
—F=5Y 85, 440 +6 3 x522! 26,658
—go4g
85,4402 %1 . 5Hi*6 2 +622%0. 875 a,717
—AZII2R4Et
10,6802 % 1.5HH0. 5A1 2622602 12,49
—RSEIISY
85,4402 62 15 7,690
OMSXICAHAY 89, SA 2H) o2 415,603
—Jlz= 95,7602 * 10H*2602 248,976
—=F=g 95,7602 * 10«52 49,79%




2AM: M=
M Aot AH (2L 2/ HR)
¢ MSAE &= (cHol: M)
- b
S B SR(B) - HIRAIY - BAS e L o inE=Et
-5
95,7602 1. 58 10«62 %0875 77,925
— A2t 2R
11,9702%1.581*0. 5A1 210260 23,342
—xtssSFoeY
95,7603 *10Y* 15! 14,364
—=& oML AL} S
100,000& 1+ 12& 1,200
OaU=9E 223 E183
3,222, 1403 +21Y 67,665
201 L2 3| 866,484 686,410 180,074
01 At22t2ld| 96,300 60,940 35,360
OsE= M& 2,00020%2,500 5,000
OaU+=gE 29 2 ¢
25,000,000 *14] 25,000
Oal=gE ARE 22
1,300,000 * 12 15,600
OAA At relt] 3,000,00024%14! 3,000
O&=)| dExz 40,0002 % 110122 5,280
OztEA! Hidl X2l
35,0003+ 13CH*12& 5,460
OMEIIE &F 225
1,300,000 * 12 15,600
Oall=9% 3A3E 2
3,000&*2,0000H 6,000
Og+Z Zg 29X 7Y
300, 000& 58 A 1,500
O=24 232&8 NE 150,0002/%123] 1,800
O=34 1% 7 500, 000244 N E 2,000
OAll+=9E SRMAr 2FEIL =2 (L)
2,500,000 *14] 2,500
OM=Z EZA 22
70,0003 23|20 A 280
OFI| & JIHEE 222 72
1,000,000& 23] 2,000
O3+ 2 HHe 2¢
500,000 *43] 2,000
O%=%x 4| 2 72¢
60,000 *4Ix123] 2,880
OJIZHHZ22X S Mg HEIA MAeY
100,000&+4 Y 400
02 S=2Z| 770,184 625,470 144,714
03322 ¢ HMAl 577,800
&3 13,000,000 x 122 156,000
—&oleE 22 15,000,000 * 12 180,000
A3 800,000 %252 * 128 240,000
—stes 150,0002 * 122 1,800




2A:

PSPk HIﬂ;&EE} (L2 Z/HS)
¢ MSAE &= (CHel: %2l
= PSIE|
SA - FB . EI(BH) - HRAY - BES ol &k iy lmE=T

OXIIANE K2

OsZIINE K2 T

O
>
0z
=
nx
10
paa|
I
o

CHE

O
k>
0z
=
nx
O
i
0zt
ng
02
0y

O
k>
0z
=
nx
i
O
S
or
02
0y

OEgel WIHHE HAEE ==

OaU=Z& 0loid 32 EY

Oalf==E SHOIX B2

—SEeYBRNAY SXES

o

—HOIEZCIAAE KX

OHM2E AI2E FUItHE B S A

O"AI|7 A2l

1,000,000& 128

200,000+ 122

450,000+ 102

2,000,000&*12]

2,000,000&*12

=

IT

1,000,000&*12

400,000~ 122

1,000,000&+102

1,500,000&+102

OAULYEE AS 500,000+ 12
OCCTV & 2H&ZAH| S22/

2,000, 000443
ORdYE NEE 20,0002 %23 CH+ 12
OHeIAAE S AIEKXIH|

1,000,000& 128
4,000,000&*22]

1,500, 000& 22

50,000,000 * 14

120,000 & *45CH

5,000,000& 14!

OSgzldac] & HOIE2ACIANAE A2+

600,000& 12

350,000+ 122

AN
TTE

2,000,000&*22
50,000&*12
1,500,000 *3CH
1,5702%200 £

7,000,000& 14

12,000

2,400

4,500

2,000

2,000

1,000

4,800

10,000

15,000
6,000

8,000
5,520

12,000
8,000

3,000

50,000

5,400

5,000

11,400

7,200

4,200

4,000
50

4,500

314

7,000




2A:

kIR xquza PE(2HLBE/HR)
oo FSAN == (crol: 2i21)
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
OSADIX 2| 2ola
2,000,000 %14! 2,000
O49x ma Ymsd| Az
2,500, 00024% 14! 2,500
OMZ2 OHFDIR SXIE4
2,000,00024%235] 4,000
206 M= bl 8,000 15,500 7,500
01 Xz 8,000 15,500 7,500
O+ZRRIE pHERH 2
500,00024%43] 2,000
ORI STH 7
500,00024%43] 2,000
O%E2B ASH(FYY) 2
500,00024+63] 3,000
O2LY 84 228 2N 2
500,00024%23] 1,000
301 LEFEX= 166,400 154,400 12,000
14 J[EIS A2 166,400 154,400 12,000
OALAE T2 29 UAIR 166,400
-2t A= 40,00024%23| 260 20,800
—ZRIEA AR
40,0002 %23 %260 20,800
-2l ZAE 40,0002 *23]+2602 20,800
—4~(IIEEIY) 2AR
40,0002 %431 %260 41,600
IR0128 2AE
60,0002 *43] %260 62,400
401 AI2HIZ 2 0HE 125,000 70,800 54,200
01 Al&H 125,000 70,800 54,200
OS=J| 28 X 10,000,000 %141 10,000
OAILHAE Al SX| 24 40,000
— AU AEE RX B4
20,000,000 %14l 20,000
—HAT AHE RX B2
15,000, 000214l 15,000
—QIHERIHA)A, ATIYA AIZ2 9K 24
5,000,00024% 14! 5,000
OFNARH LMEE Mo D
5,000, 00024+ 14! 5,000
O49E AT 80|72 &3
5,000,000 % 14! 5,000
OEYz| SWED| D
25,000,000 %14l 25,000
OAULHE L2 M
10,000,000 %1 4! 10,000
OALHAR QE HA ZA}
30,000, 0002 14! 30,000




2A:

SRR xﬂqega} IE(2FL2E/HR)
SHel HSAE &5 (cro): =2l
SN B SL(3) - MBAY - BaS Ofl b e MimE=T!
405 THakE SH 14,500 5,400 9,100
01 AL 2 EF SH 14,500 5,400 9,100
O"AI|IR 7Y 8,700
—EXMVARE 22 4,000,000 *1CH 4,000
—EYOIZERL ¢
3,500,000 *1CH 3,500
—0IZIOIHIX|(0E 2XE) e
1,200,0002* 1CH 1,200
Og47| el 220,000 * 10CH 2,200
OHIBIl 2 900, 0002 *4CH 3,600
Het=alzpz 29 273,294 207,795 65,499
201 L2 A 164,694 130,220 34,474
01 AFRZH2IHI 16,620 10,800 5,820
Otfst=AEaz ARE 72
500,000 * 12 6,000
odBIe 53 $28
30,0002 %84 Ak 122 2,880
Olst=asdd =4 23R N
40,0002 %1241 %123 5,760
O&=D| dExz 40,000 *3H* 122 1,440
OMEZT $EAA 222
70,0004 104 Ax23] 140
037 2 =HYe3 e
100,000 %43 400
02 222 148,074 119,420 28,654
O2222 2 HMAl 80,400
—&IIe2 5,000,000 122 60,000
—&oleE 22 350,000 % 12 4,200
—tae23 1,200,000 128 14,400
—stks 150,000 % 12 1,800
OFIIAIL orx2te| ThEH
1,000,00024 122 12,000
OBYIIANE S22 e
200,000 * 12 2,400
OABIAIA otMBHR| CHEH
450,0002%103] 4,500
OAAIE EEEHUFA
2,000,0002*13] 2,000
OAgEH| &HE)|IsEA
2,000,0002* 13 2,000
OXARYA 2. 000*4 500 M *23] 18,000
OUSH=AZEE AS 500,0002+63] 3,000
OUEt=AEHE 293 HA
1,000,0002 %23 2,000
OAISZH| S 500,0002 % 12 6,000
Ogugs ABE 35,00021% 130 * 122 5,460




2AM:

SRR HIqO_EEP TE(SLBR/HK)
SHel HSAE &5 CEREERD
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
OUtfst=A2E ool F4 2
3,000,000 % 14! 3,000
OS5I L 2P S A 222
3,000,000+ 14! 3,000
OZAIDIA FHe)| 2aE
1,000,000 % 14! 1,000
OS2 HIIAA
1,500,000 +2CH 3,000
OHlAZA)| RR(FR) 7Y
1,57020%200 £ 314
301 YBtEAZ 41,600 52,000 A10,400
14 J|EtE A2 41,600 52,000 A10,400
OZZ g AAE 41,600
=4 40,0002 %33/%260 31,200
—=d28 40,0002 %13/%260 10,400
401 AlEHI L2 0HH 55,000 25,000 30,000
01 Al&H] 55,000 25,000 30,000
OUst=AEER A2 SXES
25,000,000 * 14! 25,000
o2 2We)| il
25,000,000 % 14! 25,000
OJIHAIE L FHIAE RXLS
5,000,000 % 14! 5,000
405 KHAHE SH 12,000 0 12,000
01 AU SEFSY| 12,000 12,000
Otfst=AEas =4 gyHId 2
1,000,000 12CH 12,000
(R)AZRHEZAA THAIY 3,712,000 2,632,000 1,080,000
z 3,712,000
401 Al&HIL S 0HY] 3,712,000 2,632,000 1,080,000
z 3,712,000
01 Al&H] 3,712,000 2,622,525 1,089,475
OAZXAHZAA X4
3,712,000,00024%1 4! 3,712,000
z 3,712,000
()22 Z4F SR 149,965 0 149,965
= 101,411
= 48,554
401 AlEHI L2 0HH 149,965 0 149,965
= 101,411
= 48,554
01 Al&H] 149,965 0 149,965
OZEZY ZAF LHERAY
149,965,0002 * 14! 149,965
= 101,411




SA: HSXED
Im: HIS0IDe PE(SIURB/HK)
SHel HSAE &5 CEREERD
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
| = 48,554
(RNSFANUSEE =SHESLAE =+ 1,200,000 0 1,200,000
g 360,000
Al 840,000
401 NEH L2 0HY] 1,200,000 0 1,200,000
b 360,000
Al 840,000
01 AIZH] 1,200,000 0 1,200,000
ONI2EY =SUSSMAIL JH2S
1,200,000, 0008 14! 1,200,000
b 360,000
Al 840,000
FELE e 6,932,209 5,800,321 1,041,888
g 716,001
= 243,386
Al 5,685,616
= 287,206
EENPEEEE! 250,000 179,520 70,480
307 21201 250,000 179,520 70,480
02 EIRIFAAIER 15,000 0 15,000
OYFAINSS A AR} NV (2ES )
1,250,0002+ 128 15,000
03 BN H 22X 235,000 179,520 55,480
OYFAIHSS 2H(2EE FH)
235,000, 000!+ 14! 235,000
AZXOPIE 2435 36,000 47,315 A11,315
201 Yereg| 6.000 6,000 0
01 AFR22IH] 6.000 6,000 0
OFNZRE KX 6.000
—HNEY 29X BHSE M
6,000,000 %14! 6.000
307 212kl & 30,000 30,000 0
02 LML EE 30,000 30,000 0
ONZZA= BEEEA AOIZ22 XNH(2XS
Hoy) 10,000,00024x 14! 10,000
OFNEY R NSAY(RES HH)
20,000, 000! 14! 20,000
EIPTEINED 74,420 74,420 0
301 YerEEZ 3.420 3,420
11 BAIIHIXI S 3.420 3,420
OIFOHOIHSHS FIIX o4l
90,0008+13% 1,170
O BSLASHS B KR 01t
90, 000252552 2,250




SH: SRS
Ha: ggelme)
B2 =

&2 dsE A (che]: X Sl)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
307 2120/ A 71,000 71,000 0
02 RIZIHAAIRIE X 16,000 71,000 55,000
OZOHOl HHEQIE DAl 2%(BXE FH)
10,000,00024%14] 10,000
OXOHQICH L& MO PU(BES HAU)
6,000,00024%1CH 6,000
04 QIRISHAIAIIE X 55,000 0 55,000
OM263l Z=CHWAMKUHE SHHHI(BES
Jo) 40,000,00024% 14} 40,000
ONIgsl F=4HIDE MIHNILISHE(BXE
HoH) 15,000,0002%14] 15,000
EENERENENE] 476,000 448,000 28,000
307 SI20IA 476,000 448,000 28,000
04 QIZFSHAIAIIE X 476,000 448,000 28,000
OM53l H=AIDKSHS] HEZH (2RSS Ho)
160,000, 00084 14! 160,000
OMI53| HEAIQIKSHE SHE N(2EE )
275,000,00021% 14! 275,000
ONME3| BFAUMSHE SDSsn X(2XS
HoH) 35,000, 00084 14! 35,000
OMM53l H=AIDKSHS| &0t 2S¢ X2
(Bxg mo) 6,000,0002!% 14! 6,000
=COHSHIEIIN 364,000 354,000 10,000
307 2120/ & 364,000 354,000 10,000
02 RIZIHAAIIE X 364,000 354,000 10,000
ONle23| ZESMSUE &t ZBI(BXS HoH)
334,000,00021% 14! 334,000
ONIees| ZECUMSUE EIF ARAl L GHEHA]
ZH(2xE FN)
30,000,00024%14] 30,000
NZI| E2¢ MSH3 120,000 120,000 0
307 SI20IA 120,000 120,000 0
04 QIZISHAIAIIE X 120,000 120,000
OANEI| B2 HKU3 HE N (BES HH)
5,000,00024245 2 120,000
SDHSSLHR 212,300 218,300 26,000
307 2120/ & 212,300 182,300 30,000
02 RIZHHAAIIE X 212,300 182,300 30,000
OstDHSS0R S4(2X8 H)
45,000,00021%14] 45,000
OMS SJ| L HAES SH(BES FA)
122,000, 0002 14! 122,000
OZ=E 24Z MSH3 &0t JY| XY (BXE HH)
900,000+ 103 9,000
ONl613l Z=SHMMSUE &0t ZH NY(BXS
ZH) 6,300,00024%13] 6,300




2N KIS
HM: M\t REH(2FL Y/ HR)
gelr dsed x4 CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
Ot ESXA(EX8 HY)
300,000+ 10H*102 30,000
N EINEINE 5,000 4,500 500
307 2I2H0| & 5,000 4,500 500
02 QIFAAAIRIE R 5,000 4,500 500
OMSHISXC H4D L AIR= £ 0| X
(X8 FH)
500, 0004103 5,000
ESE S EIIZHIXI 54,000 54,000
307 212+0|& 54,000 54,000 0
02 QIFAAMAIRIE R 54,000 54,000 0
OZ=Y MUl &t ZHl N(2XS HN)
54,000,0002* 14! 54,000
NEEREEPNE 13,100 13,100
307 2I2H0| & 13,100 13,100
02 QIFAAAIRIE R 8,100 8,100 0
OF NEZ S23 &It XA(EXS HH)
6,300,0002* 14! 6,300
OX=2 NEY HLUE &It NR(EXS HN)
1,800,000 * 14! 1,800
04 QIZFSHAIAIRIE X 5,000 5,000 0
OAl NE2 M3 HE X (BXE FH)
5,000,0002* 14! 5,000
HIUCHARSUE KRR 506,000 506,000 0
201 L2 A 6,000 6,000
01 AFR22IHI 6,000 6,000 0
OF203 2 6,000
—S=8 A 50,0002 %5 %43] 1,000
—=E2= M 5,000,000 %1 A! 5,000
307 2I2H0| & 500,000 500,000
04 QIZFSHAIAIRIE X 500,000 500,000
OX2L? MU RI(BEE8 M)
290,000,000 * 14! 290,000
OZEe| MU RX(EXS HH)
210,000,000 * 14! 210,000
N EINES=FI 5 =N 70,000 20,000 50,000
307 2I2H0| & 70,000 20,000 50,000
02 QIHAAAIIE R 20,000 20,000 0
OXHZAIEY RSAMSHSOE 20 ZH X
(BXs FY¥) 20,000,000 %13] 20,000
04 QIZFSHAIAIRIE X 50,000 0 50,000
OXIHEAIES ZSMEHKHS] Kzl ZH X
(BExE FY) 50,000,000 *14] 50,000
MET S SHXH 180,000 175,000 5,000
307 212+0|& 180,000 175,000 5,000




2N HMSIED
HM: M\t REH(2FL Y/ HR)
¢t MssE =4 EEEEN
- _ - pSIE]
2A - 3 - H2(SH) - MRAY - BAS Oil AboH @Ei Hns2
02 QIFAAAIIE R 140,000 135,000 5,000
02024 B2U2MMEHIFSUE BIHEXS FY)
40,000,000 %14l 40,000
OMI343s) BETCIMSHFUE FIHEXS HY)
100,000,000 * 14! 100,000
04 QIZFSHAIAIRIB X 40,000 40,000 0
02024 SFAl 1-2I12(SFAH) =205 WA
(BX8 FY) 40,000,000 * 14! 40,000
NEEEEPINEE] 22,000 20,000 2,000
307 QI2H0|H 22,000 20,000 2,000
04 DIZFHAIAIRIE X 22,000 20,000 2,000
OAIBI A22D|THE] HEl N(BES M)
22,000,0002*13] 22,000
ECHRESTEPIE 16,800 11,800 5,000
307 212+0|& 16,800 11,800 5,000
02 QIZHHANAIIE X 1,800 1,800 0
OZ=e] 24 =203 &It ZH| NY(BEX8
Hoy) 1,800,00024x 14} 1,800
04 QIZFSHAIAIRIE X 15,000 10,000 5,000
OF=210 NE0E SRUE HE(BXs FY)
10,000, 0004 *13] 10,000
02024 E&HER| ] SRUE(EXS FNH)
5,000, 0002414 5,000
RS EN P 80,000 144,000 264,000
307 212+0|& 80,000 144,000 264,000
04 QIZFSHAIAIRIE X 80,000 144,000 264,000
OM178] FZEI|QIMHY MBHYSESSQIZH =3
Hal(EXS FHH)
17,000,000 14! 17,000
OHM178] FFZI|QIMH ZESS0! HOIEESUE
(BXE8 HM) 20,000,000 x 14! 20,000
ORM1258] FZEZI|QIAZIAL 2SS0 KES
(BEXE8 HW) 23,000,000 %14l 23,000
OM478] FFZI|QIAHY M2E501 2 0|2 HILIA
Hal(EXS FHH)
20,000,000 * 14! 20,000
MEH S A AUNE X 70,000 70,000 0
307 QI2H0IH 70,000 70,000 0
04 DIZFSHAIAIRIE X 70,000 70,000 0
02024 LZ=AIDIREHERD NS HE(BES FOH)
10,000, 000414 10,000
ORM125] BHECH2E DHEC HE|(BX8 HH)
60,000,000 * 14! 60,000
ZOIHSTESZTOIALEHE E2A0I203 70,000 70,000 0
307 QI2H0IH 70,000 70,000 0
04 DIZFSHAIAIRIE X 70,000 70,000




SA: HEIED
HI: Yot RE(2IL2R/HK)
= MsEE &4 (cHol: M)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
ON263] 2PIHKASZE OIALEHH A= AHOI2
CH3l 2 2024 DIAEE S0 HE(EXES HH)
70,000,000 x 14! 70,000
22X 65,000 15,000 50,000
307 QI2t01A 65,000 15,000 50,000
04 DIZFHAFAIRIB X 65,000 15,000 50,000
OM73] HHISIEHDIE ZELHZEUS
(EX8 ) 15,000,000 * 14! 15,000
020243 MZAIFHE L AEUS2EWHE], 2
2C SHUE(2ES FH) 50,000, 00020%1Al 50,000
EEE RN 10,000 10,000
307 QI2HOI& 10,000 10,000
04 DIZFHAFAIRI B X 10,000 10,000 0
OY=2I DX ANIN H=AASI2I2| T OFRHS
(2X8 HH) 10,000, 00081 14! 10,000
H2ELAHF| XA 20,000 20,000 0
307 Q1201 20,000 20,000
04 DIZFHAIAIZ B X 20,000 20,000 0
O3] ALZHY M2 2iXZSE3 ¢
H73| AMAHY MIQE SHRUHE(EES HH)
20,000,000 % 14! 20,000
2= X 55,000 55,000
307 Q1201 A 55,000 55,000 0
04 DIZFHAFAIRI B X 55,000 55,000
ON218] HFAIFI| MIERUE WA X
(Bxg HN¥) 55,000,000 * 14! 55,000
A= ABHSI2I2T|H5] K2 30,000 30,000
307 Q1201 30,000 30,000 0
04 DIZFHAIAIZI B 30,000 30,000 0
02024 HZ=AUBIZIZT)| (3] A KR (BES oK)
30,000,000 % 14! 30,000
MBI SE284 45,000 45,000
307 Q1201 A 45,000 45,000
02 DIZEHAAIIE X 45,000 45,000 0
OMERS E2Y SHNY(EXS HH)
7,500,000+65 = 45,000
ORIZ2=01E 29 155,000 155,000 0
201 L2y 15,000 15,000
02 2229 15,000 15,000
O2H 0I2=01% 29 15,000
—dJIes 3,000,000+ 12 3,000
— ot R= 12,000,000 %1€ 12,000
307 Q1201 & 125,000 125,000
02 DIZEEAAIIE X 125,000 125,000




SA: HSED
HM: M\t REH(2FL Y/ HR)
gelr dsed x4 CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
ORF OIS0 2Y(2Xx8 FY)
125,000,000 %14 125,000
401 AlEHI 22 0HH 15,000 15,000 0
01 Al&H] 15,000 15,000
O=F 0i22=0|E HNEIA AX|
15,000,000 * 14! 15,000
AFALXZY 2Y(2IHEERH) 35,000 15,000 20,000
Al 15,000
= 20,000
307 2I2H0| & 35,000 15,000 20,000
Al 15,000
= 20,000
03 QIIHH 2K 28X 35,000 15,000 20,000
OYFHH|ZRZARXZY 29
35,000,000 %14l 35,000
Al 15,000
= 20,000
OIS (BHES) AZX2Y2N(2IIRF L) 20,000 20,000
307 212+0|& 20,000 20,000 0
02 DIZFHAAIIE X 20,000 20,000 0
OYZATEH LA ATXZY 29
20,000,0002* 14! 20,000
(2)HSUMSHSK X IR (SXIH) 125,172 122,112 3,060
7l 62,586
Al 62,586
307 2I2H0| & 125,172 122,112 3,060
7l 62,586
Al 62,586
02 DIZFHARAIIE X 125,172 122,112 3,060
O024 MEHKXIEX HHXI
2,607,750 4% 128 125,172
7l 62,586
Al 62,586
(2)LBHMEHST A HHXI(ZSX12) 281,637 274,752 6,885
7l 140,819
Al 140,818
307 2I2H0| & 281,637 274,752 6,885
7l 140,819
Al 140,818
02 DIZFHAIAIIE X 281,637 274,752 6,885
Ot MRS HHXI
2,607,750 9%« 128 281,637
7l 140,819
Al 140,818




SN HSHED
3 M=selZet PR(2L 22/ HF)
ol d=sed M CEREERD
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
[ EUTIREENEEINEDGIPN 62,586 30,528 32,058
7l 31,140
Al 31,140
= 306
307 212t01 ™ 62,586 30,528 32,068
Jl 31,140
Al 31,140
= 306
02 QIZHHAAIEE X 62,586 30,528 32,068
O HHSA A+ BHXI
2,607,750 2% 122 62,586
Jl 31,140
Al 31,140
= 306
(JMEHSNEA 2sEEE N 2,132 2,080 52
7l 1,066
Al 1,066
307 2I2+0| ™ 2,132 2,080 52
7l 1,066
Al 1,066
02 I B AP E X 2,132 2,080 52
OMBHSNCH BELEE X8
164,000 x13&+12] 2,132
Jl 1,066
Al 1,066
(F)AE=2R0IEA XA 403,200 290,700 112,500
Jl 282,240
= 36,288
Al 84,672
307 2I2t01 ™ 403,200 290,700 112,500
Jl 282,240
& 36,288
Al 84,672
05 QIZI?IE= 403,200 290,700 112,500
OAE=AH0IEH XIH
100,000 %336 *12& 403,200
Jl 282,240
& 36,288
Al 84,672
(2)22H100 MHSHH 29 211,640 200,000 11,640
Jl 142,548
Al 61,092
= 8,000
307 2I2+0| ™ 211,640 200,000 11,640




SN HSXED
Hu: HIS0ITet PE(2HURZ/MS)
S NSSd £ (Cto: M)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
o1 142,508
Al 61,002
= 8,000
02 SIRFBAAEER 211,640 200,000 11,640
O=LIH100 FFHLISHE 2
211,640,000 14! 211,640
b 142,548
Al 61,002
= 8,000
BNEEEEEEEPEEEINE 1,736,900 1,478,000 258,900
= 158,000
Al 1,320,000
= 258,900
301 LerEEZ 1,736,900 1,478,000 258,900
= 158,000
Al 1,320,000
= 258,900
2050 - esRsTaE 1,736,900 1,478,000 258,900
ONFY2SHIS 29
1,736,900, 000215141 1,736,900
= 158,000
Al 1,320,000
= 258,900
BREEER NG EE 15,600 15,600 0
= 4,680
Al 0,920
307 BIRH0IA 15,600 15,600 0
= 4,680
Al 0,920
02 BRI AAIES 15,600 15,600 0
OMBHSXTX DEH| X
10,0002+ 132122 15,600
= 4,680
Al 0,920
BRI S ] 2,400 1,200 1,200
= 720
Al 1,680
307 BIRI0IA 2,400 1,200 1,200
= 720
Al 1,680
02 SIZBAARER 2,400 1,200 1,200
OFOK MEHSNTK DSl X2
100,0002 2% * 128 2,400
= 720




SN HSTSD
3 M=selZet PR(2L 22/ HF)
ol d=sed M CEREERD
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
| Al 1,680
(D)MEHSXCXH ==X 16,220 82,394 AN\B6,174
= 4,866
Al 11,354
307 212t01 ™ 16,220 82,394 AN\B6,174
& 4,866
Al 11,354
02 LB AAIEEE 16,220 82,394 N\66,174
OQUENSXEA HII254-E X2
16,220,000&*14] 16,220
& 4,866
Al 11,354
(D) MEHSRE2HTZ 28,800 28,800 0
= 5,760
Al 23,040
307 212t01 ™ 28,800 28,800 0
& 5,760
Al 23,040
02 2B AEE X 28,800 28,800 0
ONMEHSDY 29 28,800, 00084 14! 28,800
& 5,760
Al 23,040
(E)SFAMADIIEUEIHEI KR 234,000 240,000 26,000
= 24,000
Al 210,000
307 212t01 ™ 234,000 240,000 26,000
= 24,000
Al 210,000
04 QIZHHAIAIHE X 234,000 240,000 26,000
Ogz=asiitiletEt2l =
234,000,000 14! 234,000
& 24,000
Al 210,000
Ei=CHal X2 510,000 78,000 432,000
307 2I2+0|™ 510,000 78,000 432,000
04 QIZHHAIAIHE X 510,000 78,000 432,000
ONi218l ASUsw S d=EE U=
(2X8 HH) 220,000,000 %14 220,000
ONi478] St=USIEHA =Y 31T A=E2 T
Hal(2xE ZA)
290,000,000 14! 290,000
()R AZ=2E0IEA K2 79,200 45,600 33,600
7l 55,440
= 7,128




SA: HEIED
HI: Yot RE(2IL2R/HK)
gelr dsed x4 CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
Al 16,632
307 2120l 79,200 45,600 33,600
p) 55,440
[ 7,128
Al 16,632
05 DI2IIES 79,200 45,600 33,600
OZNQAZ=LEOI2A X
110, 0002460 * 122 79,200
p) 55,440
[ 7,128
Al 16,632
(S)HOHQIMSHSXIC A 2SI 960 600 360
[ 288
Al 672
307 Q1201 960 600 360
[ 288
Al 672
02 DIZFHAIAIIE X 960 600 360
OROHO! MEHSKITA &) |2S2L X
960,000 %1 4! 960
[ 288
Al 672
HIATEH|LIADEXIA 80,000 0 80,000
307 Q1201 A 80,000 80,000
04 DIZFHAFAIRI B X 80,000 80,000
OXIB0s| 22E21)| MIATENS| L 2024
HMIATEHUASHASRAUZ(EZE HY)
80,000,000 % 14! 80,000
MEBYSXICA JIE 2 X 81,298 81,298
307 Q1201 81,298 0 81,298
02 DIZFHAIAIIE X 81,298 0 81,298
OMEHKXE JIEH 28 X(BEES HH)
81,298,000 * 14! 81,298
(S)MSHSXEA HALS X 5,520 0 5,520
[ 1,656
Al 3,864
307 Q1201 & 5,520 0 5,520
[ 1,656
Al 3,864
02 DIZFHAIAIIE X 5,520 0 5,520
OMEHSKEI RE2g X
5,520,000 % 14! 5,520
[ 1,656
Al 3,864




SN HSTED

H: M} RE(2IUD/AS)

ol d=sed M CEREERD
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
()R EHSACA 2=282 A 324 0 324

pJ 162
Al 162
307 212t0I A 324 0 324
Il 162
Al 162
02 BIZIZAAIIE T 324 0 324
OZOf! MBHSKER BS2EE X
162,000 +22*13] 324
Il 162
Al 162
BIOITAIE 22I(2FL22/ISK) 1,086,292 464,261 622,031
HIOITAIE 22 1,086,292 464,261 622,031
A HENHBE 29 170,530 178,017 AT ,487
101 I2A4H| 66,656 61,263 5,393
04 JRIR22RSES 66,656 61,263 5,393
OYZAl HEAZY SIS (o4 22
66,656
—J23(EY) 78,8802 %22* 1802 28,397
—JI23(57Y) 118,320@1%224*119 28,161
—FE4e 78,880 2122 x50 8,204
—ANRBEIIY
78,8802 2%« 122 1,894
201 LBt Ay| 66,674 65,054 1,620
01 Ab22r2|H| 6,044 6,044 0
OHFAl RHEAZ 22 6,044
—ZTAEA oA AIRERE 2
70,0008 %122 840
—AEHZY DRIE EY Y
400,000+ 1CH 400
—RHE QHMEY HA0h HIE
60,0002 %105 600
—RHEAZ 2te U gL AR
500,00084 %14} 500
— MY BYHEE 7Y
1,40024%20 %180 504
—RHEO| OHY BZ3 HIE
2,000,00021% 14} 2,000
—31EA HABE 19
100,0002* 122 1,200
02 222l 60,630 59,010 1,620
OYFAl HEHZE 29 31,810
—iks 800,000 %12 9,600
— Aol ER3 100,000 % 12 1,200




D HsAED

HHOIZAIE 2tel(235t
HHOIZAIA 2te|

SA - EHH . E(BH) - HRAY - BES e HIDS2
—3BXEA
10,0002 *50CH* 12JH & 6,000
—BBNEA 22(FIIXENA)
10,0002 %50 CH* 12JH & 6,000
—SSANEN 2 35,0002 *250CH 8,750
— XA AKHO A HA
130,000 % 1CH*23] 260
O2B AN 29 28,820
—iks 20,0002%7 ) A+ 122 1,680
—CIHAANER 70,00021+7 01 Ax 122 5,880
—SHEQS 242
15,0002 %7 Ax 122 1,260
—AAE QXL 20,000,000 * 14! 20,000
206 XHEH| 7,200 7,200 0
01 x24I 7,200 7,200
OXHENA 2R3 30,000 +20 =+ 12 7,200
401 AlEH| 22 OHH 30,000 30,000
01 Al&H] 30,000 30,000 0
OXNENZE AEE SXBS
30,000,000 %14l 30,000
NEHEZ HES 915,762 286,244 629,518
101 QI124H 23,744 19,164 4,580
04 JIZHHI2 2RS4 23,744 19,164 4,580
OHIOIAEY2 22| L SoX| AN FH| 48
23,744
—Jl==s 78,8802 x 124242 19,089
—=54 78,8802 %13 x482! 3,787
—oIXR3SISE
78,8802+ 1% 11 868
201 L2 6,160 6,160 0
02 2229 6,160 6,160
odto|agez 2
50,0002 *57H Ax 122 3,000
Otio|AEY2 He 223
400,0002%13] 400
odto|agez 2 2a)
200,000 x 174 A*33] 600
OSMBZENE 24
100,000 #4704 2#33] 1,200
OSMBZIHHE 2R3
20,0002 *4JH A x 122 960
206 XHEH| 1,858 1,920 162
01 TH2H] 1,858 1,920 162
OHlo|AE 2 MH|Ig8 &H| 8 2o
1, 7202452  Ef*20H* 1200 & 1,858
401 AlEH| 22 OHH 884,000 259,000 625,000




2A: MSEY
FI: HIO|TAIE 22(2FLZZ/HF)
£l HI0IZAIE 2el (Ctol: ®M2l)
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
01 Al&H] 884,000 259,000 625,000
OHIoITEZ AIEE2 HESBA
40,0002/%2,500m 100,000
OSMZARENE ALS HESZA
5,000, 0002 %474 2 20,000
OHIOIAEYR &E AIE2 HESBAH
5,000, 0002 x4 JH 2 20,000
OEBAIAA 2 HIOIASLZ2(HARE) QL AHIQ!
CEBA 10,0003, 000 30,000
Otto|IagE2 ZH1D|
23,000,000 %33 69,000
OEHAE AFE HIO|2 22 ZAAY
600,000,000 x 14! 600,000
OSSN 22 IHENER =4 J|2 HEed
45,000,000 * 14! 45,000
AR 2ES &L (23 2A/HS) 797,728 621,148 176,580
ZOIXFHE 22 208,869 56,454 152,415
FOIHISHE A2t 202,869 50,454 152,415
101 Q1244 4,733 4,618 115
04 JIRHHI22ISE 4 4,733 4,618 115
O=0M=SHE S 33|
78,8802%x22x30L 4,733
201 B2 45,836 45,836
02 SZ2YH| 45,836 45,836
O824 Y2 |z
3,000,000 1CH 3,000
OL280| 2t X122l
200, 00024 %574 2 1,000
OFIIANE 22 DA 2,000,000 14! 2,000
OJ1AH, &d] gH2t WA
2,000,000 14! 2,000
O35 AlE2 HIIHEEZ AL 482
5,000, 0002423 10,000
OFzZE, SeAH 22 A
500, 00021%5% 2,500
ON+== o 1,000,000 * 10§ Ax23] 2,000
Ot ARH(FR)
1,810 %70L*8AI2H 10 10,136
O] A =2 100,000 *13] 100
ONEZ $ZAA 42
100,00024%13] 100
Odlf 222 H)|1&8H Y 24
2,000, 00024 <2CH 4,000
Ol A= 24 1,000,000 23] 2,000
OAZAIE&H| S22
2,000,000 %142 2,000




2A: HKIED
M AQISSHL|(2SUZY/HS)
cel: 2IHKHE 22 (Crof: M2l
SN BB ERI(E) - HRAMY - B I e HIRE2
OXD| 2ot&Hl HLEA
5,000,0002* 14! 5,000
401 A& B2 0HY] 135,000 0 135,000
01 Al&H| 135,000 135,000
O2WIHSHE] SAETI AXZA
15,000,000 * 14! 15,000
O=CIHSHE QRLIZt 25 TA X
20,000,0002 %14} 20,000
ORDIXSHE Zojelg 52| nH
100,000,000 * 14! 100,000
405 RHAHE SH 17,300 0 17,300
B EEEET 17,300 17,300
O HA 2 88,0002 100CH 8,800
o201 2 1,375,000 21 +4CH 5,500
ON&II ¢ 3,000,000 1CH 3,000
HEHS2 Aldze 6,000 6,000 0
201 LB 6,000 6,000
02 2229 6,000 6,000
OFIIAIE |XLS 2,000,000 * 14! 2,000
OJIH, &H| 2 Sxiel
500, 0002 %27H A 1,000
OA== RAl&2| 3,000,000 %1 A! 3,000
RENERES 588,859 564,694 24,165
NEIEEE=FETEY 580,379 277,276 303, 103
101 Q124 42,755 0 42,755
04 JI2AH2Z2XSES 42,755 0 42,755
OANRISSE SAFH| 42,755
—Jlz= 78,8804 %2 x220 34,708
—F5=E 78,8802 2% x41L 6,469
—RSEISY
78,8802 x22 %10 1,578
201 LB 375,404 274,966 100,438
01 AF222IHI 13,760 6,722 7,038
O3 EARE 22|
100,000 % 12245 2 6,000
OMYDIESREE 7Y
1,8802%200H* 150 5,640
OANQI2SE EH=2)| 2L
70,0002 +35+63 1,260
OARI2SE FH24)| de|
30,0002 122 360
OJIZHH22R HEag
100,000 %52 500
02 2229 361,644 268,244 93,400




M MRIED
M A2sE¥z(2L/HK)
el HFAlE2c CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
OdelHiOIe A2l e
250,000 x2CH* 123 6,000
Oagormag| AR X2 19,920
—SSFUNY 1,000,000&*6JH A 6,000
—-=S)|sE 1,000,000 *67H 4 6,000
-2 823 110,000 *6IH 2+ 128 7,920
OaSAE L] SR
1,800,000 *14] 1,800
OLUSBAE FRE= 2,400,000 %1 A! 2,400
O=3J ¥ & 28 WAl
500,000&*5& 2,500
OHEI|4Hl 22 LAl 100,000&*20& 2,000
O43 tH& sXlzel
1,000,000 %14 1,000
O&3ttf A=l 2,0002%2,000kg*2 8,000
Odda=A B HEH(AUSR)
1,600 *2,000L*5& 16,000
O= - HEA DYXSD| KX
1,000,000 *14] 1,000
OZXd4 AdHAE L MEyL|
4,500,0002% 13 4,500
O3t&4a ==Hi2t 22| 200,000 44! 800
Oxgtea ¥ BRI 50,000 %122 600
OAlRI2SE HIIR3 241,200
—gErng 16,500,002 128 198,000
— B 2,000,000+ 122 24,000
S 1,500,000 * 122 18,000
—=S 100,000 128 1,200
OXI| =8l HIIZEA 1,500,000& 13 1,500
Odlol=E 23 2,500,000 %122 30,000
OREYE A2 34,1002 128 410
OA2orEE S| 50,000&*13] 50
O&E D=0l A3l 100,000&1%13] 100
OREg22elx Aslh| 36,000 %13 36
OXHE MI1&d] EIIZAL
2,000,000 *14] 2,000
o83l E8& 100,000 %13] 100
OANRIZ2SE A5 24H
36,0003 *43|*12& 1,728
OANRIZ2SE Ea
4,000,0002%23 8,000
OJ|HEH 85 &H 9,000,000& %14 9,000
O33HEAE 0|842 4l
1,000,000 *14] 1,000
206 =4I 6,120 2,310 3,810




2N HSTED
M ASSHA(DILZR/AISK)
S MSAlE22] EEEED
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
01 M=t 6,120 2,310 3,810
OFZII& &2l HIERY
10,0002 * 100X 1,000
OFZI|& &zl s 2
6,000 *3Z*40H 720
OAl&Z2| &3 3o
10,0002 *20E+43] 800
OFCIZIE ZH7Y
7002 +500&+6E 2,100
s 2 30,000 +50E 1,500
401 A& LSO 142,000 142,000
01 Al&H] 142,000 0 142,000
OFZHIIE T HIE, B2 L 24
14,000,000 * 14! 14,000
OANRIZER AILE RX B2
12,000, 00024%574 A 60,000
OZJHSsIZ Ald2 2K
8,000,000 * 14l 8,000
OBX=Z 23T B&
20,000,000 * 14! 20,000
OANQISEE L ZAX M, X
20,000,0002* 14! 20,000
OARI2SZ ZH|J| &
20,000,000 * 14! 20,000
405 KHAHE S 14,100 0 14,100
01 XU SZF EH| 14,100 0 14,100
OXtsAalIFE2AT| g
2,200,000 *5CH 11,000
OLAEIZRNHI| 2 350, 0002 *6CH 2,100
Ooll=2|, 8&J| ¢ 500, 000 *2CH 1,000
METSAEZL 8,480 287,418 278,938
201 LBty 8,480 8,480 0
02 222y 8,480 8,480 0
OMEHIS2 M8 | 24
1,500,00024+23| 3,000
OMEISZ I, &Hl t2 |X &
1,000,00024% 14! 1,000
OMEISZ AS gt
1,000,00024+23| 2,000
OFIE HA 12,00024%40 480
OMEsS2 HES X 2l
2,000,000 %14l 2,000
#™SSZUI(MST S OIEHIIE 149,274 145,782 3,492
BIEETT 149,274 145,782 3,492
BIEEET 149,274 145,782 3,492
201 LBty 56,754 53,262 3,492




SA: HSIED
Ha: HHSAAH|(MKIED)(JIEHIIEH
&e: J|E238h| (cHol: M)
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
01 AF22t2IHI 56,754 53,262 3,492
OsSAMEX 7 20,000 %228t Ax 122 5,280
OSZ20HAY| 8,000 *7 Al %223 % 122 14,784
Ogetrz2 100,000 * 122 1,200
OAA2 TAZLLI 50,000 %122 600
OARD M 10,290
—ZAPDI(CHE) %2
1,000,0002*1.5CH 1,500
—ZelEe)l el 100, 00024 *5CH*50% 250
—=SADIEH 200,0002%55]*1.5CH 1,500
—ZRIEDI(EY) EY
200, 0002 %53 x5CH 5,000
—ZaIED|(&eh) Ed
200,000 %53+ 1CH 1,000
—PC ==l 100, 0004 +22CH*20% 440
—JIEt ==2ldl 50,000 122 600
OJIEF AtR22IH] 10,0002 %22 * 122 2,640
@l=E = 21,960
—SASH (AT
60,0002 * 1243662 21,960
202 O4H 87,120 87,120 0
01 2UHo| 87,120 87,120 0
O2tLjodl 20,0002 %22 » 122 %122 63,360
O=204d] 120,000 #2284 x9 2 23,760
203 AR=ZIH| 4,200 4,200 0
04 BAN2AARETIH| 4,200 4,200
ORNSHARZAIH| 350,000 % 12 4,200
204 Z 24| 1,200 1,200
01 ZHZ AR5 AH| 1,200 1,200 0
OXHZARLHAH|(HMSTEDLH)
100,000 %1122 1,200




